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1. Which of the following terms is not one of the basic types of competitive advantages?
(a) Differentiation. (b) Quality. (c) Cost. (d) Focus.

2. What is the major cause of ‘channel conflict’?
(@) Product. (b) Price. (c) Place. (d) Promotion.

3. Which of the following terms is the pricing strategy of keyword advertising?
(@) Cost-plus pricing. (b) Penetration pricing. (c) Dynamic bid pricing. (d) Premium
pricing.

4. Which of the following terms is most related to the term “lock-in”?
(a) Switching cost.  (b) Transaction cost. (c) Sunk cost.  (d) Agency cost.

5. Which of the following terms is not related to transaction cost?
(@) Advertising. (b) Firm size. (c) Information cost. (d) Transportation cost.
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